

## HW6, Problem 2

Jacob Bailey

October 20, 2013

We will show that  $\sum_{k=1}^n \frac{2}{k^2+2k} = \frac{3}{2} - \frac{1}{(n+1)} - \frac{1}{(n+2)}$  for any positive integer  $n$ , using induction on  $n$ .

Base:  $n = 1$

$$\begin{aligned}\sum_{k=1}^1 \frac{2}{k^2+2k} &= \frac{3}{2} - \frac{1}{(1+1)} - \frac{1}{(1+2)} \\ \frac{2}{1^2+2} &= \frac{3}{2} - \frac{1}{2} - \frac{1}{3} \\ \frac{2}{3} &= \frac{2}{3}\end{aligned}$$

The two are equal for  $n = 1$ .

Induction: Suppose that  $\sum_{k=1}^n \frac{2}{k^2+2k} = \frac{3}{2} - \frac{1}{(n+1)} - \frac{1}{(n+2)}$  for  $n = 1, 2, \dots, p-1$ .  
We need to show  $\sum_{k=1}^p \frac{2}{k^2+2k} = \frac{3}{2} - \frac{1}{(p+1)} - \frac{1}{(p+2)}$ .

By the definition of summation:

$$\sum_{k=1}^p \frac{2}{k^2+2k} = \left( \sum_{k=1}^{p-1} \frac{2}{k^2+2k} \right) + \frac{2}{p^2+2p}$$

Our inductive hypothesis states that at  $n = p-1$ :

$$\sum_{k=1}^{p-1} \frac{2}{k^2+2k} = \frac{3}{2} - \frac{1}{p} - \frac{1}{p+1}$$

Combining equations gives us:

$$\sum_{k=1}^p \frac{2}{k^2+2k} = \frac{3}{2} - \frac{1}{p} - \frac{1}{p+1} + \frac{2}{p^2+2p}$$

We can simplify the above equation, and the equation from our inductive hypothesis at  $n = p$  to get:

$$\begin{aligned}\frac{3}{2} - \frac{1}{p} - \frac{1}{p+1} + \frac{2}{p^2+2p} &= \frac{p(3p+5)}{2(p+1)(p+2)} \\ \frac{3}{2} - \frac{1}{p+1} - \frac{1}{p+2} &= \frac{p(3p+5)}{2(p+1)(p+2)}\end{aligned}$$

So:

$$\sum_{k=1}^p \frac{2}{k^2 + 2k} = \frac{3}{2} - \frac{1}{p} - \frac{1}{p+1} + \frac{2}{p^2 + 2p} = \frac{3}{2} - \frac{1}{p+1} - \frac{1}{p+2}$$

$$\sum_{k=1}^p \frac{2}{k^2 + 2k} = \frac{3}{2} - \frac{1}{p+1} - \frac{1}{p+2}$$

Since  $\sum_{k=1}^p \frac{2}{k^2 + 2k} = \frac{3}{2} - \frac{1}{p+1} - \frac{1}{p+2}$ , the claim is true.

■